WYV —EDIN—Y
BUTLET,
LIGHT 133cc B/UKIT

XEFITOLDIYIVHERELUCVET . — BB RO HIEE

212-1432000

LIGHT 133cc P-KIT

LIGHT 181cc B/U KIT(S)

1
350-1432300
212-1432600

LIGHT 181cc B/U KIT(S/TYPET CAM)  212-1432610
LIGHT 181cc B/U KIT(S/TYPE2 CAM)  212-1432620
LIGHT 181cc B/U KIT(B) 212-1432601
LIGHT 181cc B/U KIT(B/TYPET CAM)  212-1432611
LIGHT 181cc B/U KIT(B/TYPE2 CAM)  212-1432621
LIGHT 181cc P-KIT 350-1432600
LIGHT 164cc P-KIT 350-1432400

wINYFIOURX b+ J0OL LIGHT K77y I KIT

212-1432600 212-1432601
(h Ls8% /S) (% Ls8% /B)
&S [@EI-KNO, SN—v# BRI | 2121432000 3501432800 | ;}z;f?;fi‘?s) ( ;}2;;‘3;221/15) 3501432600 3501432400
212-1432620 212-1432621
(847 2H4L/8) | (84T 2H4L/B)
A1 |300-1432000 N ALY v T RELT 1 ¥9,800 oP X1 (847 1hL) | X1 (84T 1HL)
300-1432010 NAALY T NEA4T2 ¥9,800 oP X1 (8472h4) | X1 (847 2H4)
A2 |311-1432000 ¢ 54 1) 45— (133cc ) ¥18,000 X 1
311-1432700 ¢ 63> UH— (181cc A/ YIviN—) ¥21,000 X1
A2 |311-1432701 ¢ 634~ (18l1ccA/TFv7) ¥23,000 X1
A3 |771-0900900 FIINCYa—FKILh MI0 X P1.25 ¥800 X2 X2
A4 |771-0500999 FINIY=UL T Ty o~ 10mm ¥100 X 4 X 4
A5 |771-0901800 FANXYSU— (JIN—) ¥2,200 x 1
771-0901810 FANEYSU— (TF97) ¥2,200 X 1
A6 |403-9000040 KERI>T178— ¥9,000 X 1 X 1
B1 [351-1432300 ¢ 54 EZ k> (LIGHT133cc A) ¥6,000 x 1 x 1
351-1432400 ¢ 60 KX k> (LIGHT164cc A) ¥6,500 X1
351-1432600 ¢ 63EZX > (LIGHT181cc A) ¥6,500 X1 X1 X 1
B2 |352-0006540 ®54 EX R YUY (0.80.81.5) ¥2,000 x 1 x 1
352-0006600 $B60EZR>ULT  (0.8-0.8-1.5) ¥2,000 X 1
352-0006630 ¢B63EXRULY (0.8-0.8-15) ¥2,000 X1 X1 X 1
B3 [353-0001340 EXR2E> 13X 40 X8 ¥500 x 1 x 1
353-0001345 EX R E> 13 X 45 ¥500 X 1 X 1 X1 X1
B4 |354-0000130 EXFYEZYY T 13mm ¥50 X 2 X 2 X 2 X 2 X 2 X 2
C1 |961-1432300 AYRHRTY b (¢ 54) ¥980 x 1 x 1
961-1432310 Ay RHRT Y k(¢ 60) ¥1,100 X 1
961-1432320 AYRHRTy b (¢ 63) ¥1,100 x1 x 1 x 1
C2 |962-1432300 N=ZNyF> ¥400 x 1 x 1 X 1 X 1 X 1 X 1
C3 |70-963-11006 EX#AZFs v b (H-06) ¥250 X1 X1 X1
F1 [303-1013711 BNy RTINZRPFECFy b (1 %) ¥800 OP OP OP
Eho) KIT UHDIS—Y
&S N-VH &S N-VH &S N-VH &S N-VH
N1 M8 &K+v bk x4 N10 M8 X 22 F7 vy v—ffKI b x 1 N19 a~Xy rFxvyTOUT x 2 N28 M6 X 14 FJL b x 1
N2 8mm ¥=Ur9Tyo— x 1 N11 HLZ7O% v b 32T X 1 N20 M6 X 14 HKJU k X1 N29 FANH—FE&IHY—H—F X 1
N3 8mm F7 v v— X3  N12 M6 X 12 KLk X1 N21 02 t>H#—H—F X1 N30 #AILH—FEt>H— X 1
N4 M6 X 90 KLk X2  N13 Zhy/N=TL—k X 1 N22 02 &> #— X1 N31 10mm > =U25T vy v— X1
N5 24—~y K ASSY X1 N14 ByH—F—L> v 7 (58) X 1 N23 OyHh—7—L (1>FT—7) X1 N32 #4 FA—-5—EHRy K x 1
N6 M6 X 20 KLk X2 N5 OyhH—FP—LYv7 b (R) X 1 N24 Oyh—P—L (TFJ—Zh) X1 N33 8mm F7y v — X 1
N7 ZERS UL H—~y K91 FHN— X1 N16 M8 7 b X2 N25 ANy hPYHARRAIYa— X2 N34 HLFI—HARO=5— X1
N8 745x25 OUYY X1 N17 M6 X 20 HJL k X4 N26 OyH—TF—LY 7 kATYLY X2 N35 10X12 JyoE> X2
N9 HLFI—> x 1 N18 &~y k¥ vy 7 X2  N27 10X12 JyJE>r X2

AFELTOBON—YIRENIC/ -V EBFERALEY., BERAT3/N-VIIE AU, ERZEOHEFPFELVEEEIFRETRLTTEL,

AOPY—VRFTYasRETY. DERGE. FEIHWATEL,




